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Lets Shate P 9 Word Problems
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&ﬂ WORKSHEET#7

[ Solve the following word problems. ]

1) A book costs $7.43 and a pack of pencils costs $2.18. What will be the total
cost of 3 books and 5 pack of pencils?

2) A water tanker had 178.5 litres of water in it. It supplied water to some
houses and now there is only 25.27 litres water left in it. How much water did it

supply?

3) The length of all three sides of a triangle are 2.4 cm, 1.75 cm and 2.29 cm
respectively. Calculate the perimeter of the triangle.

4) Ali's weight is 24.98 kg and his father weighs 4 times more than Ali.
a) How much does Ali's father weigh?

b) How much heavier is Ali's father than him?

5) What will be the cost of each chocolate if 9 chocolates cost $20.79?

“Please log in to www.letsshareknowledge.com for more worksheets"
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1) $33.19

2) 153.23 litres
3) 6.44 cm

4) a: 99.92 kg

5) $2.31

b: 74.94 kg
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